
*  Estime et calcule, chaque jour, une opération.
Samedi  180 kg + 0,03 t  = ?
Dimanche   63 € - 27,53 € = ?
Lundi   63,4 x 7,3 = ?
Mardi  132 : 48   = ? (pas d’estimation)
Mercredi  1,83 m + 97 cm = ?
Jeudi  74,3 – 48,5  = ?
Vendredi  25,75 x 8,6 = ?
Samedi  65,6 : 24  = ? (pas d’estimation)
Dimanche  0,5 L + 75 cL = ?
Lundi  0,3 km – 285 m = ?
Mardi 48,6 x 7,5 = ?
Mercredi  4 894,5 : 65   = ? (pas d’estimation)
Jeudi  2,5 t + 630 kg  = ?
Vendredi   0,5 m – 65 mm = ?
Samedi  87,3 x 4,6 = ?
Dimanche  72 : 33  = ? (pas d’estimation)
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**  Estime et calcule, chaque jour, une opération.
Samedi  275 kg + 0,07 t   = ?
Dimanche  18 € - 9,05 €  = ?
Lundi  97,4 x 8,3  = ?
Mardi   1 188 : 48 = ? (pas d’estimation)
Mercredi  0,27 km + 75,9 m  = ?
Jeudi  43,7 – 18,09 = ?
Vendredi   95,85 x 8,06 = ?
Samedi  233,6 : 24 = ? (pas d’estimation)
Dimanche  0,07 L + 85 mL  = ?
Lundi  0,03 km – 6250 cm = ?
Mardi 69,4 x 9,5 = ?
Mercredi  51 694,5 : 65  = ? (pas d’estimation)
Jeudi  0,9 q + 257 kg  = ?
Vendredi  0,5 L – 23,5 mL = ?
Samedi  807,9 x 7,3  = ?
Dimanche  104 : 55  = ? (pas d’estimation)
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